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1 213 4 516 7 8 91 10 |11 12 13 14 151 16 17 18 19
O6yxosuupke | 2 | 10 46 | - - - 10C3+bn 86| 0,6 |1A| 30 36 420 4¢| BCP 60
O6yxosuupke | 2 | 20 88 | - - - 8C31bn10c 671 0,7 §1A| 26 28 425 4e|BCP| & = § 60
[
O6yxoBuubke { 7 {25 08 | - | - - 10C3+bn 66 0,8 |1A] 26 26 460 4¢|BCP :CE. 8 50
Obyxosuuske | 7 (31] 85 | -] - | - 10C3 661 0,9 [1A] 25 26 515 4¢|BCP| &8 & 50 2
O6yxoeuubke | 9 |30 29 | - - - 9C31bn 64| 0,6 |1A} 27 32 365 4¢|BCP § §'§ é 40 é
O6yxosuupke | 9 |31 30 | - - - 8C32bn+0Oc¢ 771 0,7 {1A] 28 30 390 4 ¢| BCP é E 2 :;;‘: 40~ &
O6yxopuupke | 14121162 | - | - - 9C31Bbn+0c 66] 0,7 {15| 28 28 435 4e|{BCP| © E o 60 =
O6yxopuupke | 14122 28 | - | - - 10C3 61]0,80{1A| 23 24 400 4¢|BCP % .E :é_ 50
O6yxouubke | 16 {21 32 | - | - - 9C31bn+43+I3 861 0,7 |1A] 30 32 440 4e|BCP| = 8 2 40
O6yxopuupke | 21 4 | 9.1 -l - - 10C3 711 0,6 {1A[ 28 32 430 4¢|BCP 40




O6yxosuubke | 21 | 8 | 10,7 10C3 751 0,7 [1A} 28 32 465 4¢| BCP 60
O6yxosunpke | 21 |27 18,7 9C31bn 751 0,7 |1A] 28 32 425 4ejBCP 40
O6yxosuupke | 22 | 3 | 4.8 10C3+bn 80| 0,6 {1A] 29 32 470 4¢|BCP 50
O6yxosuupke | 22 | 6 | 4.3 8C31/131bn 63( 0,8 |1A] 27 32 445 4¢| BCP 40
O6yxosuupke | 22 | 12§ 2,8 10C3+/13 86| 0,7 [1A] 29 32 500 4¢| BCP 40
OGyxosuupke | 40 | 42 2,8 6C32Bbn1/1z1 Oc 65| 0,8 [1b] 28 32 410 3el|BCP 40
O6yxosuupke | 42 [ 13] 2,8 8C32bn+OctI's 90 | 0,7 [1A[ 32 40 450 4 ¢| BCP 50
O6yxosuupke | 42 [ 151 1,5 9C31bn+I3 761 0,7 | 1| 31 40 495 4 e | BCP 50
O6yxosuipke | 43 [ 9 | 2.3 10C3+bn 831071 28 36 455 4 ¢| BCP 50
O6yxosuupke | 50 | 18| 83 8C32bn 751 0,8 |1b] 30 32 480 4e¢|BCP 50
O6yxosuibke | 50 | 19] 6,0 10C3 63] 0,8 |1b] 28 32 500 4e|BCP 50
O6yxosuupke | 62 1 2 | 9,0 8C31/131bn+I3+0c [ 76| 0,8 [1A] 29 36 515 4¢| BCP 60
O6yxosuupke | 64 | 2 | 6,8 10C3 751 0,8 |15 31 36 595 4 ¢ | BCP 50
O6yxosuubke | 64 | 4 | 6,2 9C31/I3+bn+I3 751 0,7 |16] 30 36 480 4 ¢ | BCP 40
O6yxouupke | 64 | 13] 8,8 10C3 851 0,7 {1B] 32 40 560 4e¢| BCP 60 2
O6yxouupke | 66 | 8 | 2,3 9C31I'3+Kar 751 0,8 | 16| 32 36 515 4 ¢| BCP 40 g
O6yxosuubke | 81| 1 | 4,0 8C31/31bn 7510711 26 28 355 3e|BCP 40 S
O6yxosunpke | 81 | 2 1,5 10C3+bn+/3 851081} 1 27 32 480 3¢ BCP 40 2
OGyxosuupke | 81 | 3 8 10C3 661 08 |1 22 22 355 3e|BCP 40
O6Gyxosuipke | 811 4 | 1,2 8C32bn 70| 0,7 |1A] 26 28 370 3e|BCP 50
O6yxosuupke | 81| 5 | 6,1 10C3+ 113 66109 1|1 22 24 430 3e| BCP 50
O6yxosuupke | 81| 6 | 0,7 10C3 8510711 27 32 460 3e|BCP 40
O6yxosuupke | 81 | 7 | 4,6 9C31bn+/13 80| 0,8 J1A] 28 32 480 3e|BCP 40
O6yxosuupke | 81 | 8 | 2,5 10C3+bn 661091 24 26 460 3e| BCP 50
O6yxoBuubke | 81 ] 10 9,5 6C3(75)4C3(90) 751 0,7 |1 25 26 400 3¢l BCP 40
O6yxosuupke | 81 { 13| 2,1 10Cs3 701 0,8 | 1 25 28 420 3e|BCP 50
O6yxosuupke | 81 [ 15] 1,6 10C3+bn 851 0,7 [1A] 29 32 460 3e|BCP 50
O6yxopuubke | 811181 0.8 10C3 95] 0,6 | 1 28 32 360 3e| BCP 30
O6yxopuubke | 81 [ 19] 09 10C3 7510811 26 26 460 3e|BCP 60
O6yxosuupke | 81 20| 1.0 10C3 66107 |1 23 22 340 3e|BCP 60
O6yxosuupke | 81 [ 21} 1,7 10C3 80[ 0,711 27 28 420 3e| BCP 60
O6yxosuupke | 81 | 22 2,8 10C3+bn+43 861 06| 1 28 32 380 3e| BCP 50
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JleoHiBCbke 21151 04 - - - 6C3(5N1bn1[132C3(70) | 59| 0,8 [1A{ 23 24 370 3e|BCP . 20
JleoniBcbke 2 {31 29 {-| - - 10C3+/I3+bn 761 0,7 [1A| 28 30 440 3e| BCP g 30
JleoHiBCBKE 318 1,7 | - - - 10C3+]/13 761 0,7 |1 25 26 380 3e|BCP § 40
JleoHiBCbKE 3 (1t} 10 ] -4 - - 10C3+]/13 761 0.8 | 1 25 26 430 3e| BCP 5] 30
JleoHiBChbKe 31121 36 | -1 - - 10C3+/I3 711 07 {1 24 26 370 3e]| BCP = 30
JleoHiBchke 3120 20/ - | - - 10C3+]13 86| 0,7 [1A] 30 32 490 3e|BCP § 20
JleoHiBCchbKe 4 110 13 | -1 - - 10C3 8110711 27 30 420 3e | BCP 2 40
JleoHiBCBHKE 4 1121 21 ] -] - - 10C3 - 8110711 27 28 420 3e|BCP g 30
JleoHiBChKe S 15143 |D)3.1] 3.1 10C3 591 08 [1A] 24 24 425 3e|BCP 8 40
Jleonisebke | 5 | 12| 3.7 [(2)[ 33| 3.3 | 7C3(58)3C3(70)+ br+Oc+/is | 58| 0.8 | 2 17 20 300 3e|BCP E 45
JleoHiBChbKe S 1131 6,7 | - | - - 10C3 66| 0.7 116] 29 32 465 3e| BCP 5F 30
JleoHinchke 6 {8129 | -] - - 10C3 761 0.7 {1A] 28 32 450 3¢ | BCP 2 E 30
JleoHiBChKe 6 [ 11] 47 | - | - - 9C31bn+/13 80] 0,7 [1A] 30 32 470 3e|BCP = 5 20
JleoHiBCBbKe 6 [ 181 12 (-] - - 10C3+]13 761 0.7 |1A| 27 30 435 3e| BCP E = 35
JleoHiBCchbKe 815107 -1 - - 10C3+]I3+bn 60| 0.8 11A| 24 26 410 3elBCP =) :E 45
JleoHiBchbke 915 1,8 | - | - - 10C3 861 0.7 11 28 30 440 3e|BCP g 20
JleoHiBCBbKE 9191 41 (]33] 33 7C3(81)3C3(60)+bn [ 81] 0.8 | 1 26 30 410 3e| BCP g5 & 20
JleoHiBCbKE 9 {10 1.2 | - - - 8C3(86)2C3(65)y+ bn+/1z | 86| 0.8 | 1 27 30 450 3e|BCP < 25
JleoHiBCEKE 9 1231 23 | -] - - 10C3 861 08 |1 27 32 480 3e| BCP é 20
Jleoniscoke | 10| 4 | 2.0 | - - - 8C3(66)2C3(50)+ I3+bn | 66 | 0.8 | 1 22 24 350 3e{BCP 2 45
Jleoniscbke | 12 126] 1.8 |(1D] 0,9 0.9 10C3+bn 5910811 20 22 320 3e| BCP a 40
Jleodiceke | 10191 23 [ - | - - 10C3+/13+bn 96| 0,6 [1A] 30 36 420 3e{BCP 5 40
Jleowiceke | 141 6| 57 | - | - - 10C3+]/13 761 0.7 |1A] 29 32 460 4¢| BCP 2 20
JleoniBcoke | 15[ 51 0.8 | - | - - 10C3 761 0.7 |1A| 27 28 430 4¢| BCP E 45
Jleomicbke | 151 6 | 22 | - | - - 10C3+]/13+bn+Oc 66| 0.7 [1A| 25 28 380 4¢| BCP s 20
Jleonincbke | 15115] 22 [ - | - - 10C3+/I3 761 0.7 |1A| 28 30 440 4e| BCP S 20
Jleoniceke | 16| 3 | 23 | - | - - 10C3+bn+/13 85106 | 1 28 30 395 4e| BCP 20
Jleonieceke | 16 | 18] 14 | - | - - 10C3 86| 0,6 | 1 26 30 340 4¢| BCP 45
JleoniBcbke | 16 | 22| 14 | - - - 10C3 861 0,6 [1A] 29 32 400 4e|BCP| & = .E; 25
JleoniBcbke | 17 |12 3.0 | - | - - 10C3+C6+bn 61| 0,8 J1A[ 23 28 390 3e| BCP é é ;g 30
Jleoniceke |27 | 7| 1,2 | - | - - 10C3+bn 61108 |1 21 24 340 4¢|BCP| & 'f% 2 . 30
Jeoninerke | 27 [19] 1,7 [ - - - 9C31Bn+]lz s1/08[1] 26 | 30 460 [4c|BCP| 5 28 E 20
JleoniBceke | 2720 0,8 | - | - - 10C3 861 0,7 |1 28 32 440 4e|BCP| ¢ .E § % 45
Jleonisceke |27 |21 1,2 | - | - - 10C3+bn+/13 761 0,7 [1A| 27 32 420 4¢|BCP E = I= i 45
Jleonicoke | 281 4| 45 | - | - - 10C3+bn+J13+0c¢ 61108 |1 21 24 350 4 e | BCP é 'g §- 45
JleoHiBcbke | 29 12,5 [(5)]10,2] 10,2 10C3+bn+/13 761 0,7 | 1 26 30 424 4¢| BCP = 30
Jleonicbke | 29| 2 | 16,5 [(2)]| 16,0 16,0 10C3k+/I3+bn 661 0,92 19 24 325 4 ¢ | BCP | xopenepa rybka 20
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JleoniBcbke | 30 { 4 | 29,5 | - - - 9C31bn+/i3+0Oc¢ 66| 0,8 13 17 24 230 4¢| BCP 40
Jleomiecbke | 31124 2,7 [ 2.5] 2.5 10C3+/I3+bn 661 06 |1 22 24 270 4¢| BCP < 45
Jleonicbke | 34| 3 | 34 | - - - 7C3313+bn 861 0,7 |1A] 29 32 400 4e¢| BCP .E %‘ 20
Jleoniceke | 34| 4 | 7.4 - - - 9C31/I3+bn 76 1 0,7 |1A] 27 30 410 4e¢|BCP = ° 45
Jleonisceke | 341 5 1,2 | - - - 10C3+I3+bn 661 0,7 |1 24 26 360 4¢| BCP BE 40
Jleonieebke | 371 2t 49 | - - - 10C3+/13 761 0.7 | 1 23 30 340 2e| BCP E a 45
Jleoniscoke | 38 117] 39 | - - - 10C3+I3+bn* 711 0,7 11 22 26 320 2 e | BCP é = 40
Jleoniscbke | 391 2 | 7.7 | - - - 10C3+/13+bn 66| 0.8 12 19 24 310 4¢| BCP 38 = 30
JleoHiBcbke | 39119 1.9 | - - - 5C3(66)1C3(85)4bn__ | 664 0.7 | 1 22 26 230 4 ¢ | BCP 2 =g & 20
Jleonipcbke | 401 13| 3.0 | - - - 10C3+/13+Oc+bn 711 09 ] 1 25 30 500 4¢| BCP > 'g 8 30
JleoniBceke | 40117 1.6 | - - - 9C31I3+bn+Oc¢ 561 07 {1 21 24 290 4e¢|BCP § g 40
Jleonicoke | 411 10] 3.0 | - - - 10C3+/13+Oc+bn 66| 0.8 11 23 24 390 4e¢| BCP 0 45
Jleoniecbke | 451 1 | 4.7 | - - - 8C32bn 661 0,7 |1 21 24 270 4 ¢ | BCP % 2 30
Jleonisceke | 451 7 1,2 - - - 9C31bn 86| 0,711 27 32 400 4 ¢ | BCP 5 % 40
JleoniBchke | 481 2 | 0.7 | - - - 10C3 911 0,7 | 1 26 32 400 4e¢| BCP 5 = 40
Jleonircbke | 48 | 12| 7.1 - - - 10C3+bn 6810911 22 26 400 4¢e| BCP < o 40
JleoniBcoke | 48 1304 2.3 - - - 9C31bn(100)+bn 8110711 26 30 420 4¢e| BCP £ 20
JleoniBcbke | 49 | 13 ] 04 - - - 10C3 551 0.8 |1A] 22 24 360 4¢e| BCP 20
JleoniBebke | 54| 5] 14 | - | - - 6C34bn+/I3 71107 | 1 25 30 300 4¢|BCP . 30 o
Jleonicbke | S5| 8| 69 | - | - - 8C32bnt/I3 661 0,7 {1 22 24 310 4¢|BCP %( 40 5
JleoniBceke | 56 | 11} 42 | - - - 9C3(71)1C3(100)+bn [ 71] 0.8 | 1 22 30 390 4¢|BCP & 40 E
Jleonieceke | 56 114] 1.2 | - - - 8C3(76)2C3(85)+C6 | 76| 0,7 1 2 21 30 320 4 ¢| BCP ’: 40 @
JleoniBcbke | 56 1 19] 2.3 | - - - 10C3+bn+/13 861 0711 26 30 400 4¢| BCP = 30 2
JleoniBcbke | 58 1 18] 32 | - - - 10C3 8110811 25 30 430 4¢ | BCP S 25
JleoniBcbke | 58 1221 3,0 | - - - 10C3 8110811 25 30 420 4¢| BCP a8 25
JleoniBcbke | 58 123| 2.8 | - | - - 10C3 810811 25 30 420 4¢| BCP &7 20
JleoniBchke | 64 128 1.2 | - - - 9C31bn 86] 0.7 |2 24 30 350 4¢| BCP E o 30
JleoniBceke | 64 119] 3.8 | - - - 6C3(86)2C3(65)2bn {86 0.7 | 1 26 30 340 4 el BCP a3 20
JleoniBeceke | 711 8 1,7 | - - - 10C3 8610611 25 28 320 4¢| BCP = 30
Jleoniecbke | 741 5 | 0.6 | - - - 7C3(70)3C3(90) 701 0.7 | 1 23 28 360 4¢ ]| BCP = %( 20
Jleonieceke | 741 10| 2.5 ()1 1.9] 1.9 10C3+bn+Oc+Bau 861 0.7 | 1 27 30 420 4¢| BCP 2 e 25
Jleonipcbke | 74 111} 1.5 | - - - 6C3(91)2C3(66)2bn+/13+0c [ 91 | 0.7 | 1 26 32 350 4¢| BCP = 5 30
JleoniBcbke | 7711541 2.2 | - - - 6C3(86)2C3(65)2bn {86 ] 0.7 | 2 23 30 290 4¢| BCP E S 25
Jleonisceke | 811 9 1,6 [ 12] 1.2 10C3+bn 68] 0.8 |1 22 26 370 4¢| BCP g § 30
Jleonisceke | 811 16] 1.1 - - - 10C3+bn 81] 0,6 {1A| 28 32 380 3el BCP 2 O 40
Jleoniecwke | 84 1 4 | 11,5 [ (2)[10.9] 10,9 10C3+bn+/13+0c¢ 661 0,7 11 24 26 360 4¢| BCP 2 20
Jleoniscbke | 84 1 104 O, - - - 10C3+/13+bn 911 06 [ 1 26 30 340 4¢| BCP 5 20
JleowniBceke | 84 | 15| 3,0 | - | - - 6C3(85)1 /13 2C3(120)1T's+Bn | 85 | 0,6 | 1 27 32 300 4¢|BCP % 25
JleoniBcbke | 92 1 18| 1.0 | - - - 10C3 66] 0.7 |1 22 28 320 4¢| BCP E 20
JleoniBcbke | 96 6 | 04 | - - - 10C3+bn 66| 0,711 22 28 320 4¢| BCP e 20
JleoniBcbke |100122| 2.5 | - - - 9C31/I3+bn+0¢ 911 0,6 [ 1 29 40 370 4 ¢ | BCP 30




Pazom: - | - 1258,6| - |53,3] 53,3 - - - - - - - - - - - -
Makapiseeke | 5 | 7| 3,1 - - - 10C3 64| 0,7 |1A] 25 28 390 4¢| BCP . 40
Makapieceke | 18 [ 12| 4,1 - - - 8C31bml /I3 761 0,8 | 1 25 28 400 4¢| BCP 2 E 40
Makapiecoke | 18 [ 14| 0,8 | - - - 5C33bn10c1 /I3 6210711 22 24 240 4¢| BCP 23 30
Makapisceke | 18 | 15| 7,6 |(2)] 72| 7,2 10C3 761 0,8 | 1 24 26 420 4 ¢ | BCP ,:1 ? 30
Makapiecoke | 18 [ 17] 1,6 | - | - - 8C3(66)2bn+C3(K0) { 66| 0,8 | 1 22 28 340 4¢| BCP g § 40
Makapiecbke | 18 {29] 3.8 | - | - - 10C3+bn+[3 66| 0,81 24 28 400 4¢| BCP E § . 20
Makapiscbke |22} 5| 1,0 | - | - - 10C3 76 1 0,7 | 1 26 28 400 4¢| BCP 8 = E 40
Makapiecbke [ 22| 7| 4,9 [(H] 1,9 1,9 9C31 03 711 0,8 |1A} 26 26 430 4¢|BCP § '8 :‘.% 40
Makapiscbke | 24| 9| 53 | - | - - 10C3+bn+/i3 761 0,8 |1 25 26 430 4e| BCP g E 60
Makapisceke | 24 [ 22| 32 [(3)]| 1.2 1,2 10C3 761 0,7 |1 26 28 410 4 ¢ | BCP g = 30
Maxkapisebke | 25| 1 | 10,5 | - | - - 10C3+bn+ /13 761 0,7 | 1 25 26 390 4e| BCP % % 30
Makapiscbke |25 51 2,0 | - | - - 7C3(61)2C3(90)1/13 [ 61} 0,7 | 1 21 24 280 4¢| BCP Z 'i 30 %
Makapieceke | 251 9| 4,6 ((2)]1 3,9 3.9 10C3 66| 0,711 22 22 330 4e¢|BCP * g 30 §
Makapiecbke | 25| 16| 1,5 [(2)] 1,1 1,1 10C3 71108 | 1 24 26 400 4¢| BCP 30 =

ooy
Makapiscske | 26 [ 10] 7,0 |(3)| 54| 5.4 10C3k 761081 23 26 380 4e|BCP "Op‘;‘*e"a 30

ryOka

Makapiscbke | 40 | 10| 0,2 | - | - - 10C3 66| 0,7 1Al 27 32 420 4¢| BCP 30
Maxkapiscbke | 47| 4 | 48 | - | - - 10C3+/13 601 0,7 |[1A] 24 32 360 4¢|BCP| ¥ = 5; 40
Maxapiecbke | 56 | 6 | 33,0 [(D)]| 7,51 7.5 10C3+bn 581072 19 24 275 4 ¢ | BCP é § é 40
Makapiecbke | 65 [ 21| 6,7 | - - - 10C3 551071 20 22 310 4¢|BCP| & E B - 30
Maxapisceke | 66 | 1| 46 [ - [ - | - 10C3 61]07 [1A] 23 26 360 |4e[BCP| & §& 3 40
Makapiscbke | 66 | 3 | 1,1 [ - | - - 10Cs 61| 0,8 |1A| 23 26 405 4¢| BCP é _:.Z § g 40
Makapiscbke { 71120 0,5 | - | - - 10C3 611071 22 26 310 4¢|BCP| 2 E ; 30
Makapiscbke | 71121} 0,1 | - | - - 10C3 491 0,6 | 1 19 22 220 4¢| BCP % .5 ’g_ 20
Makapiscbke | 71 (22 1,6 | - | - - 10C3 61 0,6 |1a|] 23 28 320 4¢|BCP| = 3 g 20
Makapiecbke | 73 { 1 68 | - - - 10C3 61091 22 24 410 4 ¢ | BCP 40

Pa3zom: 1204 28,2 28,2 - - -

Bceboro: - | - ]586,0( - |81,5| 815 - - - - - - - -
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